


Multiplication Tables and Charts

x1:1 | (2012 | (3x1-3 | (4x1+4 | (5x1-5 )
162:2 | l2x2-4 | [3x2:6 | |4x2-8 | [5x2:10 | |6x2-%2
303 | 2636 | [3x3+9 | |4x3-12 | [5x3-5 | [6x3-18
txd-d | |2x4-8 | [3xd=2 | [4xa-16 | [5x4-20| [6x4- 2
155 | [2x510 | [3x5:% | [4x5-20 | [5x5-25 | [6x5 30
166 | [2x6-12 | [3x6-18 | [4x6-24| [5x6+30| [6x6 36
7o7 | lax7ea | [3x7-2 | [ax7-28| [5x7-35 | 67+ 42
1x6-8 2x6+16 Ix8-=24 | |4x8-32| |5x8-40| |6x8- 48
109+9 | (26998 | [3x9+27| |4x9-36| |5x9-45| [649-54
110 10| [2x10+20) [3x10+30| |4x10- 40 |5x10+50] |6x10~ 60
Tx11=11 2x11=22 | |3xN=33| [4xN=44| |5xN=55| [6x1-66
Ix1212) (202 24) (3x12-36) (42 db) (Sui2e 0] |6xi2e T2,
Ta1:7 ) [oxte8 ) (9x1:9 ) [10xte10 ) [nxten ) [2xte12 )
7x2:1 | [8x2:% | [9x2:8 | |10x2:20 | [nx2-22 | |2x2-2
7e3+ 2 | [8x3-24 | [9x3-20 | 0330 | |Mx3+33 | |12x3e 36
Txd28 | [8xd-32 | [9ud=36 | |10xd-40 | |Nxd-dd | |24~ 48
7%5:35 | | 8x5-40 | [9x5-45 | |10x5¢50 | |Mx5¢55 | |12x5- 60
7x6+42 | [8x6-48 | [9x6-54 | |10x6+60 | [Nx6e66 | |@2x6-72
Tx7:49 | [8x7+56 | [9x7-63 | |0x7-70 | |nx7-77 | |t2x7- 84
Tx8-56 | |8x8-64 | [9x6-72 | |10x8+80 | |Mx6e88 | |2x8 96
7x9-63 | [8x9-72 | [9x9-81 | [10x9-90 | [Mx9-99 | |12x9- 108
7x10-70] | 8x10-80| [9x10-90 | |10x10-100 |Mx10+10| |[@2x10+ 120
Tet= 77| [8x-88 | [9xm=99 | [t0xt-m0| [Mxtet | [2x0e 132
Ti2-84] | 8x12-96 | [9xt2-108| |10x12-120] |Mx12-132] [t2x12- 14
\ )\ J \ 7 X 7 A i J

.=
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Proper fraction Improper fraction Mixed number
is fraction less than 1 (<1) is fraction more than 1 (>1) is consist of whole number
i 3 5 7 9 e 13 9 17 9 and proper fraction
X.E ;; ;E :E ‘s 7 712 ’5 Ex.zz 45 51
the numerator is less the numerator is more Tesr Ty Ve
than the denominator than the denominator
. J o Yy - S
4 \ 4
Unite fraction Equivalent fraction
a fraction its numerator = 1 3 B g
10 ~ 100 1000
1 ¥ 1 1
35’ % ’10 0.5 =0.50 = 0.500=......
R ( )\
OPrime number : © area of rectangle

= length x widthor (Lx W)
® perimeter of rectangle

= (length + width ) x 2 or ( L+W )X2
Ofactors of 15is 1 ,3 ,5 and 15 © area of square

it has only two factor 1 and itself

2,3,5,7,11,13,17,19 . c...iuuins

prime factors of 15 is 3 and 5 = side lepethi s itself or (SXS)

© perimeter of square

1 is common factor of all number
= side length x4 or (4XS)

0 is common multiple of all number

Example@ Convertin to mixed number :-
32 24 17
== T R F— F T —

6

Exencise@) Convertinto mixed number :-




3 2 _
DR —— E3E L J— €) —

L — €) F 3 — @)72=
Example®) write in expanded form :

R 0T = i s comuons omiimis s s s e A A

(2)405,609 = ..oouucuensuaesesisytliaagio s pismmnscenmanangs s I e oo oo sssss
Exericise®) write in expanded form :

(114,803 = ... ool ... oo Dot ) N N

(2)413,085 = .£LLLED...... 00 T 2. T RN

Bxample@ write in standard form :

(1) 60,000 + 2,000 4 600 430 + 7 = .cceerrrrrrerriinn

(2)400,000 + 20,000 + 800 +6 = ........ccoorereerrennn. (330,000 + 8 = ...............
Exencise®) write in standard form :

(1) 20,000 + 5,000 + 100 +30 = ...ccccvrvecenn

(2)900,000 + 6,000 + 800 +7 = ....ceevrrverrerrenenn, (3)80,000 + 500 = ...............
Example® find the value of X

(1) X—324 = 426, then X =....... (2) 564 +X =827,then X = ...
Bxerncise®) find the value of X

(1) X—54 = 46, then X =........ (2)231+X=400,then X = .......
Example® putthesign(> .=, < )

(DM60x40 [ ] 700x%3 @ 045 [ ] 05
put the sign (> ,=, < )

@Ms00x7 [ ] 700x5 @ 315 [_] 25




l Lesson 1 ]

Llearn @® A decimal is a number that uses a decimal point as 563.174

® A decimal has one or more digits to the right of decimal point

The place Value and the value Chart
1 7 4
i
¥

7 € P l

Place Value  Hundreds Tens Ones Point Tenths  Hundredths Thousandths

The Value 500 60 3 0.1 0.07 0.004

We write the word and after the whole part J

Standard form : 563.174
Word form : Five hundred sixty-three and one hundred seventy four thousandths

Unit form : 5 hundreds, 6 tens, 3 ones, 1 tenths, 7 hundredths, 4 thousandths

Bxaim |pJ|Le.L; Write in decimals :




@®Write the place value of the digit 5 in the following numbers :

e R —— 23457 ..., Dl ST, . 1.253.
@ Complete
® 9 hundredths = ............. @ 5 tenths = ........coouiu ® 3 thousandths = ...............
@ 15 hundredths = ............. @ 127 tenths = ...inunn ® 86 thousandths = .............
@[?@gég Choose the correct Answer :

D 2.07 = mecererree B 2=, 2=, 1S, 1=
@ 0.18= ..o =, 1=, =, 1]
® The value of the digit 5 in 21.351 is = ....ccceves jube———f £ 7005 , 0.005]
@ The value of the digit 2 in 42.035is = ............ [2° B2y , 002 , 0.002]
® o = in decimal [0018 , 018 , 108 , 18]
® 8 Thousandths = ......ccoovvrvrvrene. [0.008 , 0.08 , 08 , 8,000]
@25 tenths = wooeeeeerreeersis [0025 , 025 , 25 , 25]
®sixteen Thousandths = ......cccveveeeenenee [16,000 , 16 , 0.16 , 0.016]
© Which digit in the tenths place in the number 14.07 [, 4 , 4 , T ]

the place value of the digit 7 in the number 48,257 is ......ccceevuenene

[ thousands , tenths , hundredths , thousandths |

d 4




[}Eﬁ][;f-é_)ﬂ@' Answer the following :

@ ® 6324 ‘

In standard form : ...veviiievcecesireee e
IN Word fOrm @ ..o e e

INMBIE IO | cannnernrsrrn s

\ v

@

In standard form : ..coeeeeeiieiiiiieeiceeeeee

® 23.07

In word form : . eeee

| SRRV 1 Lo (0] 0 o N

@EF@ﬂ Answer the following :

® 5.284

®

Instandard formg:f. £ 1 ......... R\ .. .«

Inword form : .....ooeeeeereennns 12 B N .

In unit form 8.1 258N ..ot . B X.......

. >

(@

Tn stancRTTBIOREN T\ ioisss i

® 34.671

) plicgu =) L T e —

InfEnit toens 5. LB .. BL. . iiiinnns

Example@) Shade :

0.6 0.3
Exeneise@ Write the decimal :

0.25 0.63




D 1 T (in expanded form )

@D L0002 sivcinimsssimmvssiivssinasssammssississsssmisssisssinmss s (in expanded form )
®7+ 0.3 +0.04 +0.009 = ......cocoeureu (in standard form )
40 4 0.8 F 007 =wceovii s (in standard form)
® Two and forty one thousandths =............ccccceuie

® seven hundred and seven hundredths = .........cccoceevne.

@ ninety six and eight tenth = .......ccccccceeeiiinnnne. 24 hundredths ...............

(2) Choose the correct answer:

M6 and 5 tenths = ............. [0.650) % (h%)] Bi65 , 6.05]
@ 048=....5.\. = 4= =, 1=
® The value of the digit 3in 21.351 is = ......... Pt il €93 £ /003 , 0.003]
@ The value of the digit 5in 42.035is = ............ o= A05 /7, 005 , 0.005]
® thirty four and six hundredths ............... [34.06 , 346 , 643 , 34.006]
® 49 Thousandths = ........c.cecoeveeeens [049 , 4.09 , 0.049 , 4.009]
@the place value of the digit 4 in the number 18,243 is .......ccccevuvn

[ thousands , tenths , hundredths , thousandths |




Leain Place value shuffle

@® if a whole number or a decimals is multiplied by [ 10, 100 |, then each digit From

this number moves to left [ one , two | spot and The value of each digit increases

[ 10 ,100] times.
HITlo g Tenths hundredths. thousandths

L2151 . 8 N, 4
x10 |2 | 5| 84 9400 X

; h_
Bxaim |pl|LE,L/ Complete the following:

25x 10 =....... @ 14.52 X 10/'= .«.....0 @ 43 ¥ 300 = ...cccoiuuns
. 18.129 x 100 = ...... , 49 X 10 = ........... 485.2 x 100 = ......
@ 0.027 x 100 = ....... @ 1.002 x10 = ........ 14.7 X 100 = ......
46 X 1l =i @ 3502 X 10 = .onl T 12 X L0 = cosssemsc
11356 % 100=..x . 027 10 = e 96.14 x 100 = ......
5045 X 10'= e @)| 3.008 x 100 = ......

=

The value of a whole number ....increase ....when multiplying by 10
The value of 6 ..increase .. when multiplying by 10 from ..6. To ...60..

The value of 5 ..increase .. when multiplying by 10 from ..0.5.. To ..5..

-'" 7 1.



Learn  Place value shuffle

@ if a whole number or a decimals is divisible by [ 10, 100 ], then each digit

From this number moves to right [ one, two | spot on the place value chart and

The value of each digit decreases [ 10 ,100 ] times.

0 Tenths hundredths thousandths

®
@

@
M=
O
I
s
o
I

©
.9
]
€3]
[N
o
o
I

e
—
]

|
-
=
Il
©
e
=
~]
o
=
o
Il

®
T
i
©
¥
i

®| 49+ 10=...... @®)| 485+ 100=...
@ 1.2+ 10=... @) 147+ 100=....
Y S

18.12+ 100 =......
@ D07 = 100 = .
345 + 10
=345

The value of a whole number .....decrease.......when dividing by 10
The value of 3 ..decrease.. when dividing by 10 from ..300... To ..30....
The value of 4 ..decrease... when dividing by 10 from ..40.... To ..4.....

The value of 5 ..decrease... when dividina by 10 from ..5.... To ..0.5.....

g |



Compeosing ar

 Leam2

-

decompo: 1|ng decimals

@Composing : decimals means [ put together |

®Decomposing : decimals means [ broken a part |

® you can decompose 843 .572 in different ways :

1t way 288 way 3¢ way
843 .572 = 843 .572 = 843 .572 =
800+40+3+0.5+0.07+0.002 | | 843+0.5+0.07+0.002 843+0.572

©

Example® Compose each of the following :

4000+80+7+0.1+0.002 =.........

429 ¥0.279007 £.0.009 = .............

60+ 8+ 0.6 +0.01+0.003= 60047 + 0.2+ 0.09 + 0.005 = ...
70040440009 = .....coeiiiinene 0.3 + 0.008% 005 = .3.......cov0
90 +0.9 4 (009 =0 i RN b1 #0006880.03&........c00 000000

Ex,gemcﬂiLsﬁ) Compose each of the following :

100+ 30+ 7 + 0.2 +'0001. %

541+ 0.6 +0.004 = .............

@

50 +1+06+002+0.009=.....

€

4004 7 +0.09 + 0.001 = ...coouauus

400+ 0.4 + 0.004 = .......c.cecrueenne

0.6 + 0007+ 0.03'=cnminiza:

®

704001 +0002="ccnipmmanus

0:014 0.001 + 0.1 = cacoscecisisns




(4) Ninety one and six hundredths = .......c.ccoovuveeerreerereeenne

(5) 3000428 =....ommmmionsssssisspeio o

@ Ninety two thousandths =...........ccoe v e e

Exencise®@ complete each of the following :

(1)4.208 = ......&. + 0.2 + 0.008 (@) 57 thousandths = 0.007 + ...............
i [ =4+ 0.005+ 0.3 (3) 283 thousandths = ............. H0.2 +0.08
(5) seventy and eight thousandths = ............ 3 L veemree®. s

Match the cards that have the same numeral .

[ 78.42 - 10 ] ° ® 700 + 84 + 0.2 w
[ 78.42 X 10 ] e e 7000+ 800 +40 + 2
: 7842 hundredths e ® 78,000 + 400 +20

: 7842 tens @ @ k 7 +0.842 |

[ 78.42 X 10 J" 9[70+8+0.4+0.02 ]




1) The number four and forty one thousandths in standard form is ............

a- 4.41 b) 4.041 ) 410.4 d) 4.401
2) The value of the digit in tenths place in the number 7.024 is ..........
a- 0.1 b-0 c- 0.004 d-0.02
3) Place value of the digit 4 in the number 27.614 is .........
a- Tenths b- hundredths c- thousandths d- ones
4) Which number of the following has 3 hundredths, 7 ones, 2 thousandths ?
a- 0.732 b- 3.72 c-7.032 d- 3.702
5) Seventeen thousandths =.............
a- 170 b- 0.17 c-0.017 d- 1.07
6) What is the standard form for: 60 4+ 3 4+ 0.5 + 0.004 ?
a- 63.54 b- 63.054 c- 63.504 d- 6.354
7) 215 hundrgdthsie o BN B8, [ in expanded form |
a- 200+ 10+5 b-20 +1 + 0.5 c-2+0.1+40.05 d- 200 + 0.1 + 0.05
B) 7243 % 10 = Nssmeenil
a- 7.243 b- 72.34 c- 7243 d- 724.3
9) 4312 + 10 =..........
4.312 b- 431.2 c- 4312 d-43.21
Complete
(1)12 hundredths = 10 + ............ 1) V. =600+ 3 + 0.3 + 0.006
R K e o ) L — () 394.6 =100 = sesecssnss

(5) 43.67 X wovnnvnns = 4367 GE L E— = 49,37




:]_@_t, : Compare the whole number Zmi:compare tenths
3}”@ : compare hundredths A}t'!'l : compare thousandths
Bxample@) Circle the greater :
@06 or 1.2 ®@ 0.723 or 0.8 ® 45 or 4.18
@ 70 or 69.34 ® 41 or 4.001 ® 0.234 or 0.235

Bxample® putthesign ( > ,=, <
50.009 O 50.100 @ 2.01 O 2.099
@

45.057 O 45.1 @) 10, O 10.011
34.5 O 34.500

S

©

S

4.904 O 4+ 09 + 0.004

©

3.239 i, /= /, =]

......... 19 thousandths sy = < ]
®Which is the greater than 1.72 ? [1.27 , 1.07 ; 18 , 1.072 ]
@Al the following are equal except ............ [0.300 , 0003, 03 , 030]

®Which of the following is true ?

a~ 0.532> 0537 b= Ll 3< 1.3

€ =1019 5 1.1 d- g = 1.8




30

. 0.3 O 0.123

0.013 0.031

®

45.057 45.100

©)
®
®

©@
O
©

2,397 2.2

®
O
@

L 2.04

]
@
O
0480 () 0480
O
O

@
o]
o
S
(e}
&

D224 ... B W 3.238 = ., T AN | < |
@15 hundredths ......... 15 thousandths ISR\ = 2, < ]
®Which is the greater than 3.75 ? 325 , S0 £37 , 38]
@Al the following are equal except ............ [0.400 , 0.004, 04 , 0.40 ]

®Which of the following is true ?

a- 0.357> 0.537 b- 0.357 > 0.375

C-0.573> 0.537 d- 0.357 > 0.537

M. Mostau Elkwitess B 61119962132 < < <4



l Lesson 5 ]

" Leamn

48wy Midpoint strategy
Exaim |pl|lek@; Use midpoint strategy to round each of the following :

£ N ™
19.7 ~ ............. TO the nearest whole number @ 354 =~ ... Tothe nearest tenths

4 A
9 i y L v J
s N
@ 6.839 To the nearest hundredths 3.7218 =~ ........... To the nearest thousandths

A A
. _\L ¥ $ V 7,
Exercise@) Use midpoint strategy to round each of the following :
b ™ _ 5
@ 437 = .......... TO the nearest whole number (..i 715.68 ~ .............. To the nearest tenths

M

T N
& v 7 8 ;; _/
e ™ r ™
0.852 ... 10 the nearest hundredths ..[ 1.8536 ~ ............. To the nearest thousandths

N N

07 v




Prin % S e sl Y e S
it Tt Al-Mostafa

204 \W; /[@y/ rounding rule strategy
BExaim |p1|[e;.@;Use place value strategy to round each of the following :

(D 0] 8 v Tothe negrest Whole number )
(@ 549 % ..o | 1O The Nearest tenths )
@ 0.874 = oo eiiseevessieseenees. (1O the nearest hundredths )
B 8.090 2 .oceveveeeeeecrrerrererte e sse e ensesssennneeneene e (1O the nearest tenths )
(8)58.936 & ..coeeeveirreirecriersieeseeriee e ( 1O the nearest ten hundredths )
©2.7365 = ... ol o T B ( tOWHe. nEareSE thousandths )
(D69.4657 = EL B S ™L . .1 e Ml%0the negrést thousandths )

®3.875~ L4500 EK. BA LNL. ...? J (TO the neafest Wholelnumber )

¥ S

: Use place value strategy to round each of the following :
Round to the nearest whole number .

a- 0.7 ® s b0, 18 & LN C- 2458~ ..........
d-4.87 = ....ceueene e-RLA287 & neisnns f- 0.006 = ......ccoen

Round to the nearest tenths .
31375 = cesussion b-83914 =~ ....cvvnneee c-90.09 ~ .............
d-0.208 = ... e-43.95 = ime— | L § - e—

Round to the nearest hundredth :

g T6.514% i b G787 cuvsnancn LTI L2 [ —

d- 5548 = ...coeenemn e~ 6342 & ...ooecenrres f- 1.681 ~ ...............
round to the nearest thousandth :

a- 24538~ ............. b- 0.4532 ~ ............... c- 1.7645 ~ .............

d- 8.4397 = .....ccceu E-4.7801% .nusss f-0.0049 =~ ................

Mr. Mostofa Elkhoteeb Bl 0119662132 < -




(1) Complete :

»4.478 ~ ............. To the nearest tenths .
@0.5219 ~ ............... to the nearest thousandths .
®4.23 = .o To the nearest whole number .

@6.452 ~ ........ to the nearest hundredths .

(2)Choose the correct answer :

(™ Round 8.099 to the nearest tenths = ................
a- 7.00 b-8.08 c-8.090

@ Round 2.5698 to the nearest thousandths ~ ................

a- 2.569 b- 2.560 cA2U5T
® 42.81 ~ ................ to the nearest whole number
a-42.8 b- 43 c-42

@ 160.745 = 8L SE . to the nearest tenths

a- 160.7 b-160.8 c-161.0
(® Which number could be rounded to 0.58

a- 0.589 b- 0.57 c- 0.59

® 49.386 ~ 49.4 to the nearest ....cooveeveveern

a- whole number b- tenths c- hundredths

d- 8.1

d- 2.568

d- 44

d- 160.75

d-0.577

d- thousandths

(3) Mazen is a planning a trip from Cairo to Wadi Elryan . he will travel 147.72

kilometers . round the distance to the nearest tenths ?




decimals sum

~ Estimating

1)  Estimation is a way to get a number that is close to the actual answer
but not exact

1st Front - end

estimation strategy

Example@) Estimate each of the following sums by using front - end estimation

@ 3414 5.22 = e ¥ i e @ EPORE 1 52,236 = .ovioFoind™ mminns
16.79 +3.65= ...4 4/ A — S 45.2938. % N - F s = i
77.6 + 6.54 =4. 4.4 i o = S 736 +384=..... "« T -
Estimate each of the following sums by using front - end estimation
@ 2.71 +5.285€.2.% N- = B\ 3.785-47124035 = J...B.HH......... ——
6.99 +3.65\.. . e T =R\ 8 8450+ 153 = ...... 51 - =
70.9 +3.54 = B\ p et N = . 4736 +384 = ...... L JO— =

2nd  Benchmark decimals () 1 and 1

- - Y 5 S5 =

@ 031 4022= .o * T 0.785 + 0.035 = ......... g T = N
642 +3.15 = ......... ) T 8.450 + 153 = ...... S — S—

: 54 = ......... T ®) 47.36 +3.84=...... g — = anaans
70.9 + 3.54 +




. Primary 5

Fiprrs<€ Term

3';!@ B;(:))lil’m d‘i"ﬂr ’ Sﬂate\gfy

Example® Estimate each of the following sums by using rounding

-

L

(@) 5A9E 3175 Lo isiminssimsisssisniso i
® 0.874+3.852 % .o
@B.090 + 147 = coveen gl i Pone
(©58.936 + 41.643 & .eevvvererreee e
©32,736.5 + 4,235.6/% vrv.coveerorrse s siismnrenssenens
@169.46 + 33647 ... B L A N £
@3.875+1F15E]... B o il il

ceeereneeee. ( tO the nearest Whole number )

creneene ( tO the nearest tenths )
( to the nearest hundredths )

( to the nearest tenths )

cerereeeeee ( tO the nearest ten hundredths )

cerreneenee (O the nearest thousands )

( to the nearest thousandths )

( to the nearest tenths)

Bxeneise®) Estimate each of the following sums by using benchmark

@ 2:61 +222 5 \....." g T =5 bhses BADULUZUBE = .00+ =i
61.4 4+ 3.65 = ......... + W - Y— 8.52 +35354..L. g = i
13.8 #3814 = + =P 3736 +3.44 = ...... B bt = e

Estimate each of the following sums by using benchmark

, 4752 +2.032 = ..ccus s  JE— ( to the nearest tenths )
7123 4 12.007 = .isiss Fosssansni J— ( to the nearest hundredths )
524 4+ 3.65 = ..cueus g T =R ( to the nearest whole number )

Mr. M




(D Estimate each of the following sums by using front - end estimation 15
@ 345 £ 563 = i C R — R 15814 12.35 = .inua . R— —
6:28 +3:65 = wuiisi S e 845+ 153 =...... ; TP _
_ 89 +3.84 =...iin + G = i 736+ 1334 = ..... + wnieniin = xsasioa
(2) Estimate each of the following sums by using benchmark
5424+7.63= £ LK. =y R 4. 750 2385 =% \..-- R T — T
685 +3.65 B[4/ +2=11 4 ‘ 15.6 + 35.22 b Fheeries = crnre
13.32 +3.24|—= .0, P = @ 1736 + 394 =.... . P =
(3) Estimate each of the following sums by using benchmark
@ 27.52 +2.32¢\ %= ... il D ( to the nearest tenths )
@ 7.153 + 12.037 = . o =S ( to the nearest hundredths )
7244515 = ....... + e = ( to the nearest whole number )




o7 ) Adding degimals
M@hmﬂ' To Add two decimals begin with :

A st 2nd
st : Add decimals in thousandths place 288 : Add decimals in hundredths place

@@ : Add decimals in tenths place A_,th : Add whole part left the point

Example@ Add:
. 25T £628 = o 8514 + 473 = ...... 3,425 + 7.751 = ...

@ 475+623=.... 42,285 75.453= W . EABD 4128, =
@ 032 +5.686/ 4 @ & +175=.. EY +51 =
79.004 + 23.02 = ....... 0.005 + 0.5 I 282+ 7751 =.......

3 tenths +E5ihiinidred (TS fRDUSIN OTRE = it T tagtes i csasvsnsii snsssnsnisas
8 thousandths ¥ 4 thoUsandths & . i L o e L e e e fonn o thousandths
3 hundredths + B5 BhoUuSTMEINS = ..cvcovisiivniissmmimirscssaliericoolies sbhes sonsissins thousandths

Exefncise@®) Add :
156 +1248:= . .. @ 9614 +4035= ... 023 +54 =,...

5 hiinidrédthis + 7ténths + 2 Ih0iSahttiE ™ o i inss s bt i asassa

. 3 thousandths 4+ 32 hundredths = ....ccooveceeeiieiieiccecce e eeeseeeee sn e eeenene tHOUSANAths




(D) Add :

655 623 =

. 2.75 + 6.28 =

@ 02 & 585 =

@) 3514+478=. $625 4 6T oo
22.22 + 35.453= ... 6,152 + 12,5 =
BB 436 +21 =

. 19.008 + 20.02 =

0.001 + 0.1

\ 938 4 4.731 = .

. 5 tenths + 2 hundredths + 7 thousandths =

3 thousandihs # Z thoRSanaths = TNTT0 .. e, 07 et vos b s thousandths
7 hundredths + 46 thousandths = .........c i s et i thousandths
(2)Choose the correct answer :
1) 47 438 =R Ngszssss
a- 7.15 b- 8.5 c- 8.8 d- 15
2) 4 hundredths + 35 thousandths = ................. thousandths
a- 0.39 b- 0.039 c-75 d- 0.075
3) The estimation 0f 49.872 + 50.0111is ..c.ccccevenn
a- 99 b- 100 c-101 d- 102
4) 0.03 +0.003 = ..........
a- 0.6 b- 0.66 c-0.33 d- 0.033
5) 71 hundredths + 9 hundredths = ................tenths
a- 88 b- 80 c- 800 d- 8




Bxample@ Estimate:

@ 35.9 — 10.8 estimate ......ccoeevevvevenne

® 0951 — 0.729 estimate .....ccccevrrerrnee

@) Estimate:

@ 43.9 — 10.6 estimate .......cceevevvenn.

® 0.842 — 0.731 estimate ......cceevrevrrnes

Find the result ;

® 5473 -3BbE 7 4o T
@ 12.74 - 08B5HEL.......cconsuaglhfor
B 0.5 = 0.3 quperssnmsrgpn e SGY

@ 57 thousandths 12 thousandths =

g@_@é’ Find the result :
@ 5.324 - 2.342 = i

® 6.74 - 0.56

2 hundredths 15 thousandths =

® 7 tenths

3 thousandths =

Su g

 decimals

@ 2.419 — 1.240 estimate

@ 2.62— 1.59 estimate .......ccceuven.

@ 5.352 — 2.242 estimate

@ 8.47 — 6.53 estimate .......c..coeuurns

e T RS T F—

@ 0.9 ol i N —
® 8.36 FEBAZ F......c.cccnninnissinsa

thousandths

D 5.8 — 5378 =S wunwnnoas

@ 0.5 — J2B9= s

Thousandths

. Thousandths



Answer :

® a man bought some goods for 306.7 L.E . and sold them for 366.95 L.E. find

The profit ?

@® Ali has 24.75 L.E. and Ahmed has 15.25 L.E. find how much money Ali and Ahmed

have together ?

D oo +548 =77.59 oy fiyea /
@ 47.85 + wovverr =100

® 6.27 = oo = 3285

@ oo - 41.41 =328 a )




(D Subtract :
BBE = B98 = , @) 3514—478=.. 1635 BTBE oo

@)| 575-2281=. 3512 — 35.453=..... 6.152 —45 =...
@ 03 —0.065= ... R . 436 =21 = .o
. 19.008 — 15.02 = 0.1 Q0,001 = % 0138 —4731=...

. 2 hundredths — 7 thouSANALRS = ...vviee e e eeeee s eeee s eesseeesennneeennes

7 thousandihs & 2 thohSandths = oo o 7. . 0. 2. L thousandths

7 hundredths — 46 thousandths = ........ccieiiiiiiiiii e sssn e see e thOUsandths

(2)Choose the correct answer :

1) 4.7 —3.8 TR N cvsonis

b- 7.15 b- 8.5 c- 1.1 d-7.1
2) 4 hundredths — 35 thousandths = ................. thousandths

b- 0.05 b- 0.005 c-15 d- 0.015
3) The estimation 0f 49.872 — 38.752 is ..ccccecevenne

b- 9 b- 100 c-101 d-12
4) 0.03 —0.003 = ..........

b- 0 b- 0.66 c-0.33 d- 0.027
5) 71 hundredths — 1 hundredths = ................ tenths

b- 7 b- 72 c-80 d- 8




l Lessons 1-3 ]

Leairn
’"{ mathematical expression ]“ "{ Eauation ]‘\
is statement contains numbers or is mathematical expression
numbers and symbol Separated contains the equal sign [ =]
by one or more operations as EX:24.8-k=175
[+,— ,Xand + ] and does not 42+ 15=x
contain the equalsign [ =] 2% ¥5h%x 89— 32
L Ex : 34+86 and 56 +m 1
Example @) Choose equation , expression or neither :
@ 3.6+1.2=x [ equation or expression or neither |
@ 14.78 — 34 [ equation or expression or neither ]
® 14x7=M [ equation or expression or neither ]
34+ L [ equation or expression or neither ]
® 15.8+ 7.13 [ equation or expression or neither |

®Amir had 3.4 kg of apples and 2.7 kg of figs [ equation or expression or neither ]

Exam '|p]|I9L) Write an equation

G sl D Wby o0 T D E: ] R ————————
@ subtract a number from 5.63 equal 3.154 ......cceeeirveierineee v

® Ahmed 52 L.E. and his sister has 84 L.E. the equation which represent the total

P21 0) 111 | £ U —————————
@ Alisaved 147 L.E. in two weeks, if he saved 93 L.E. in the first week , then the

equation that represent what he save in the second week is .......c.cccccoeeiinieccinienne,

25 |




Leayin \\-,/@!" iables .'J!!'l --E-"*-(-ﬂ]_"'I ations ! Solving equation means finding

: the variable in the equation .
Exam |p]|[e1) Solv the following equations :

a +19.5=30.8 @) 23.15 +b=31.37
[T D=
12.7 +6.05=¢ d +45.17=57.8

m— 4.25=11.75 1,294

05 [Eor——— A . r=
@) 364— h=84 ®) 7.45 - 3.42=k
h = e b e R ...

Solv the following equations :

@ f+105=16.8 @) 8.4 n=3.25
f = e n=

y — 1.25=9.17 15.6 + e = 28.37
V = concnsininsais €=




Example®) Solve the equation :

M 823 +p=10.24 theti P = s

@ t—=245=026 hent =

@15 —x=8.23 then X = ..ouwsismi

@ v +45.8 = 64.9 then Vv = ..ccumiicinimminsesis

Exericise@) Find the value of variable in the following bar models :

' X 78.514 25,7

34.75 19.051 a 29.125 h 18.07
thenx = ......84 thena = ............ thelth =.\.........
@) m @ 73015 © 85.02
16.47 12.03 10.714 y c 53.63
thenm = ..... theh'Vi= .55 thenv=..8.4.....
3.45m
. if the perimeter of this shape is 16.70 m £
—_—— Ln
~
What does X etjUBIN v B i ivsaisnsiiaasissiviviiisimivoissss m
X
42
.................................................................................................. 507

@Ola needed 10 meters of wood to build a garden bed . She found 3.5 m in here garage
how many more meters of wood does she need

FOithe BEl 2 cnnannnssmnnmnn s

(&) the weight of Mariam is 35.235 kg . and the weight of Lucy is 42.012 kg .

What is there weight together ?

[ 27 |




(1)Choose the correct answer : 12

@ Ifp +3.562 =4.213, then p=............
a- 1 b- 2 c-3 d- 2.001
@If 3462 — x= 1451 , then = .....ccsvus

a- 4913 b-2.001 c-2.011 d-4.914

®If m— 3.459 =4.213 ,thenm = ............

a- 0.754 b-1.672 c- 0.632 d-7.672
®@from opposite bar model the value ofy = ............ 8.368
a- 13.4 b-3.336 c- 10.456 d-2.832 y | 503

®Wohich of the following bar model is suitable the equation 5.01 — h =3.17 ?

a- h b- 5.01 C.~ 317 d- h

5.01 | 3.17 h 3.17 5.01 h 3.17 | 1.84

(2)Solve each of the following equation :
@ 2.342 4 n =3 AN, ... i Nscsvessnssis

@ w-4.143 = 6.150 .cocviiiriiiiine e
@ 5.2354 p = 10462 ...covves Bl emm
@ ¢— 3425 =2.520 sipnmnmnimisiig

® 23.024 + k= 25.130 .covuvvvverrerrnrirenns 1.927cm
(3) In the opposite figure , the perimeter of the shape 2.136em 2.321em

[s 10.177 cm then the value of X = ....oovvvveeenn

X 1.735¢cm




Le;arn)

Prime factorization

Remember Find all factors of 18 - Factorpairstree 1 — Factorrainbow — — Factor T-chart —
18 18 e
But not all of 1 18
these numbers are /\ '
prime numbers ! A\ m 2 9
1236918 1236918 s 5
,then the factors of 18are:1,2,3,6,9and 18.
A prime number A composite
Is a whole number number
has only 2 different Is a whole number
factors 1 and itself greater than 1 has
more than 2 factors
A prime number
& 3 5 7 11 | 13 [ 17 1. 19 =2d=1=29 31 | 37
41 (43 | 47 (53 | 59|61 |67 |71 |73 |79 | 83 | 89 | 97
\

one factor

(® 2 is the smallest prime number
® All prime numbers are odd except 2

® 1 is neither prime nor composite because it has only
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Factorize to its prime factor :

Complete

@ 2 ,3,3 arethe prime factors of .......cicecminiiiins
@ 3 ;3,5 arethe prime factors of ...cicminaicns

® 2 ,2,5 are the prime factors of .......cccccueeunuuee
® 2,2, 2 arethe prime factors of .........ccccenne

@ 3 ;3,3 aretheprimefactors of ...c.cesamm
Exercise @)

® 2,5, 7 arethe prime factors of ..........ccceeuene

Example®)

e Ve L G e Vi e Ve e v Tl e e el i e e s o™ T W i



15

(1) Complete

® 2,2, 7 arethe prime factors of ........ccccceueu

@ 2,3,5 arethe prime factors of ..........ccceeueennn..

® 2 ,5,7 arethe prime factors of ........cccceeuruuneee

(2) Factorize to its prime factor :
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Primary 5
Fiprrs< Terimm Al-M
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How can you find greatest common factor of 18 and 24 [GCF ]

First way using listing method :

1- find the factor of each number

2- determine the common factors of these number
3- get the greatest factor of the common factor.

® factorsof18: 1,2,3,6,9,18

® factorof24:1,2,3,4,6,8,12,24
® common factors:1,2,3,6

@ the greatest common factor [ GCF | : 6
Second way using prim factorization :

1- factorize each number to its prime factors.
2- find the common prime factor.
3- find the product of this prime factor .

l18=@x3x '
| 24 = %D [T mmmrTEIoIoTIIIIIIIIE

_________________________________

_________________________________

. GCFofi8and24=6
{ s | a0 |
i ¥\ 4 I
! 9 |12 12] !
@ AN LN
| 6 |
00 o
o @G

__________________________

mbers

E @ 12 and 18 .
: I
' I
[} I
I I
: I
r_:::‘_'_:'_:‘_'_‘_'_'_'_'_'_‘_'_'_'_'_'_:‘-'_'_'_:*I
¢ GLCEFOE 12 andiAB =iy i

_________________________________

01119662132 <
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15 and 25

G..C.F of 15 and 25

G..C.Fof 45 and 81

j 45 and 81
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24 and 32

I G..C.Fof 24 and 32
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Exericise@) Find the [ G.C.F] of the given numbers :

£ -_ " 1

1 1 1
1 “_ | ] "_ I ! 1
1 | | 1 g L 1 : 1
1 i ! ] 1 ) ! 1 ! 1
1 i ! | 1 i ! 1 L 1
1 § & ] ] g ! 1 ! |
[ y ! 1 [ ! 1 ! 1
1 ) ! | 1 ) ! 1 I 1
1 i 4 | 1 L 1 ! 1
[ _“ ] “ _“ " " 1
1 1 1 1 I
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_.M-._ X I _W - i - I
1 | 1 I i ! 1 - I
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(DFind the [ G.C.F] of the given numbers :




Zero is common multiple of all numbers

Ex : @ multiples of 2 are 0,2,4,6,8,10,12,14,16,18,20,........... and so on.

All even numbers are multiple of 2

@ multiples of 3 are 0,3,6,9,12,15,18,21,24,27,30,........... and so on.
All numbers that the sum of its digit 3,6,9,12,15,18,..... are multiple of 3

® multiples of 5 are 0,5,10,15,20,25,30,35,40,45,50,........... and so on.

All numbers that the ones digit is O or 5 are multiple of 5

1 B g o

Least common multiple [ L.C.M ] IS smallest multiple [ other than 0 ]

tE‘x“alli:@I that two Or more numbers have in common .
qst way 204 way
6 and 12 %
6:0,6,12,18,24,30,...... @ @ @ 6
12=0,12,24,36, ...c.....- @ @ S ettt
Common multiples: 0, 12, 24, .......
GCF is: 12 L g




Example®) find (L.C.M) for each of the following :

2 and 3 @ 4 , 6and9
L 1 & | o
\. o e J

IE*,X;s.elr;.CﬂiES:.e}@) Choose the correct answer:

® which ofthe following is a multiple of 5 ? 52= 56 , 14 , 45 ]

@The number that is not multiple of 3 is ... ... Va /21 , 13 , 36 ]
®20 is multiple of ... ... N [ 3,6 ;8 ;. 10 ]
@ Which is a common multiple of 5and 8 ... ... [ 20, 40 , 35 , 45 |
®The L.C.M of 6 and 10 is . vz [ 6 10 30 ; 60 |
®TheL.C.Mof2and5is.. ... .. [ 5, 10 ,30 , 60 |
®The L.C.M of 5 and 648 .. ..o ws [ 6, 10 ,30 , 60 ]
®The L.C.Mof 2 ,8and6is......... [ 24, 45 , 48 , 80 |




(D) Choose the correct answer:

@ The number that is multiple of 3 is ... ... ... ... [ 7, 16 , 24 , 46 ]
@The number that is not multiple of 3 is ... ... [ 3,9 , 23 , 27 ]
®30 is multiple of ... ... ... ... [ 3,6 , 10 , allprevious |
@Which is a least common multiple of 5and 10... [ 10, 15 , 20 , 50 ]
® The L.C.M of 3and?9...... R%. 6 ,9 , 18 ]
®The L.C.M of 4and6 ... ... WANG , 12 , 24 ]

(@ Complete :
@ The common multiple of all numbers is ..................
@ All even numbers are multiple of ..............

®All numbers that the ones digit is 0 or 5 are multiple of .............
@The L.C.M of(6'and T51S ... JANRLELYY
®.... o . iSL.C. M of Sianid 5

@ Find (L.C.M) for each of the following :

3and4 - @ 10 and 8 1




3X 5=15 4 X 7= 28
vy Voo
Factor Factor Multiple Factor Factor Multiple
3 and 5 are factors of 15 4 and 7 are factors of 28
15 is multiples of 3and 5 28 is multiples of 4 and 7

BExample@) Complete the following :

@D If2X4 =8, then2and4are a factors of .................
®@ If3X7 =21, then 21isa multipleof ..................
® 6 is a multiple of .............. @6 is'afactor of ..L........

®.. ... . ....is amultiple of 8 ®............i1s a factor of 8

Exengise@ Choose Factor or Multiple to each of the following :

® 6isa...... of 3 [ Factor or Multiple
@ 4isa...... of 12 [ Factor or Multiple
@ 1508t v BFD [ Factor or Multiple
@ 24isa...... of 8 [ Factor or Multiple
® 14isa...... of 7 [ Factor or Multiple
& QI8 yie: s OF 27 [ Factor or Multiple
@8isa...... of 4 [ Factor or Multiple
B I8 @ vsis s Of 30 [ Factor or Multiple
@ 10isq..esns OF5 [ Factor or Multiple
6isa...... of 18 [ Factor or Multiple
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8 and 20

12 and 16

Relation between G.C.F and L.C.M
18 and 24
10 and 12
18 and 24

l__Eixéa_me ple®) Find GCF and LCM for each of the following:
Exelicise@) Find GCFand LCM for each of the following:




@ The number 6 is a multiple of ... ... ... ... [ 3,12 , 24 , 60 |

®@The number 27 is not multiple of 3 is ... ... [ B 3w ? « 27 ]
@30isa factor of .. e [ 3,6 , 10 , 30 ]
@Whichis L.C.M of 2 and 10 ... | 46, 15 , 200 , 50 |
® TheG.C.F of 3and9...... F3,06 39 ; 18 ]

(2)Find GCF and LCM for each of the following:
@ 6and8 @ 12 and 18
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Leanrn Area of rectangle = lengthx width A4 =LxW

We can use area of a rectangle to find 14 x 15 as following

____________________________________________________________________

. 5 10 ‘E@ 10 . Add all products
10
4

i 100
10 |10x10=100 | 10X5=50 !
l

+ 50
+ 40
+ 20

4 | 4X10=40 4X5=20

——————————————————————————————————————————————————————————————————

__________________________________________________________________

' @ 25 X 183 MY Add all products ]
i \ /i E
; 36 X 156 Y Add all products }
@ 1407 X 8 : Add all products ‘;
| - |
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X Lessons 2 & 3 ]

- The Standard Multiplication

17 X 2.345 17 X 2.345 17 X 2.345
@00
2345 2345 2345
= e x 17
17 X 2,345 i Lt 16415
16,415 C16,41 5 5
+*2,34 50 :
39,86 5

BExam lpjllej./ Find the product of the following

@29 x 24 614 X 28

@ 25x478 37 X 609

@® 325%x13| | @ 4x1,375

@ 12x425| |@ 9x2,054

@ 25x25 12 X 147

36 X 732 75 X 523

M. Mostau Elkwitess BN 61119962132 < < <4



y -
-

Find the product of the following

)

15X 25 126 X 45

58 X 478

7X 2,305

126 Estimate to 100
- 8¢ Estimate to x 40
756 4,000
+ 3,780 c,\O‘-'em
4,536 /

The actual product

Estimate to
= e

Estimate to i,

y

.............

Estimate to
————

Estimate to X

.......

Estimating prody

3672
x 42

7,344
+ 146,88

154,224

Estimate to
B —

4,000
x 40

160,000

y

Estimate to
——_—

cise@ Use the estimate by round the greatest place value then find

785

.............

Estimate to
_

Estimate to N e

635
X 23

Estimate to

Estimate to 3 ...
_




Multiplication preblems in the real werld

(1) Mona has a restaurant in Luxor, she sold 402 kebabs in week, she makes
FEach kebab with 83 grams of meat, how many grams of meat did she use ?

(2)Ahmed saved 123 pounds, Logy saved 12 times as Ahmed,

How much money logy saved ?

(3) shirts in the season costs 125 pounds . sweaters cost 270 pounds . Yara and
Her friends bought 12 shirts and 13 sweaters . how much money they paid ?




O ' | eady; e i
me Wk .
@ : Find the product of the following 32
@ 35x14 6 X 129 15 X 408 17 X 742
@ 325x18 6 X 1,403 11 X 458 6 X 2,020
@ 325x43 4%2,321 16 X 425 4 X 2,054

(2) loucy saved 246 pounds, Linda saved 15 times as Loucy,

How much money Linda saved ?




l Lessons 1-2 ]

Remember —
1 7 O 3 - 5 R Z eAlways the remainder must be less than the
divisor.
1 l l’ " e The dividend = divisor x quotient + remainder
Dividend Divisor  Quotient Remainder
[ Multiplying Facts [[ Division Facts i
2x4=8 8+2=4
20x4 =80 80+2=40
200 x4 =800 800 + 2 =400
2000 x 4 = 8000 L 8000 + 2 = 4000

rea of rectangle = L X W

Leann I Area medel to divide [ T -~ ]
A

Divide : 1,845 - 15 by using the area model

2 s — Y M| acfaits £ [
O VGO 4 Notes
| g I 15x1=15
|| 1,845 B 1,845 || 15x2=30
| 15 | 15| —1,500 | 15x3=45
i | ] 345 |\ 15x10-150
R e em—— = | — 3 15x100=1500
............... N
.r 100 | r 100 10 10 3 '
|
1,845 | 345 D[ veas| sas] 1es| as|
| 15| —1,500| 7 | | 15| —1,500 /- 150/ 150 | £ 45
i ’ i A |
345 [ 345/ 195| 45| 00 '
| il

The quotient = 100 + 10 +10+3 =123

M. Mostau Elkwitess MU 61119962132 < < <4



@ 2, 80T 1= cvrneensens @ 492 +4 = ...

\ J N )

i 2

9,788 % T1= ciiivien @ G391 ¥+ 35 = .iieien

L =7 o g

( 2,968 + 14= ...........

B0 2,556+ 24 =i

©
€




Leajrn

Estimating quotient % We use front end estimation
EImatin quotien

6,465+ 32 =

6,000 + 30 = ...200...

oooooooooooo

To the nearest
ten

@ 870 + 26=... @
B, @ 8|
m| W © ©| £
| = v | e ol ®©
= ‘g = g c| g
I 22
(=] o (=] -
= = [
900 + 30=..30..
Estimate the quotient :

6,397 + 28 =

" Bxergiseill  Estimate the quotient :

@) 576 +~ 18 = 8397 =~ 38 =...... 1,848 = 48 = ........
9,061 + 33 = ......... 1064 < 13 = cvesse

5]




10

(1) Use the area model to solve :

f N £ \

@ R O @ 2 185 v 15 =i

S J N =
il ' ' N\
8,125+ 25 £.4 £ E&503&U5EN. ........

. J \ - J
£ % o ™
3,770 +@26 N @ 16,926+ 26= .........
. J L J

(2) Estimate the quotient :

@) 776 ~38=........ @) 4397 +37 =...... 1,948 + 18 = ........




e

Les | MATH IDEA |
,I The order of division is as follows: :
. (DDivide (@ Multiply (3)subtract (3Bringdown |
I
: Repeat this order until the division is complete. |
\ /

T o o o e e M M M M S EE M M e Mm S e R e S G A M M M R M M S e M S e e e e e e e

- W S v E—— - — o — s — = S E——  E— N E— o E—— o E—

I 5325 25-213

i 0 divide I 02 MultlpIyI | 02 Subtract | . 0213 Bring I
12 [5,325 |25|5 325 | 25[5,325 6 (5325 o |
| U I 50 I P - 5p | .50 |
. I : I ¢ 3 Repeat .
| | 14) & 71| 2| e
I I | | I 75 |
| | e T2 .
— | I ....... L . E1L.0O.  __ .
Examplel | Find the quotient
@ 192+32

14, 4,995 14x1=14 32 I 19 |

-4 I 14x2 =28 | | | |

79 14x3=42 | | | | T

| 14x4=56 | | | |

% | @ 1! r 0.

o 84 14X5=70 --------------

- 14x6=84 | | | |




8,014+ 46= ...

46 | 8,014

543 + 65
65 | 543

@ 6,203 +11=

11 | 6,203

@ 9363+31=.....

o s | 9,363




@ 1515 +15 =

15 | 1,515

1,818 + 18=......

18 ‘ 1,818

@ 2,028+13=

13 ‘ 2,028

16,960 = 64 = ...

64 ‘ 16,96




(DFind the quotient :

~ Home werlk

10

34 | 4,251

4,251 + 34=

||||||||||

8,184 + 24=..

24 ‘ 8,184

(©)

45 | 6,040

6,040 +~ 45=...........

©® 2175+15=..

15 | 2,175




@ A baker made 140 servings of baklava for a party . if each baking tray hold 12

Servings of a baklava , how many trays will be needed to hold all the baklava ?

®A primary school has 588 pupils , it wanted to distribute equally among 14 classes
How many pupils in each class ?




.

To multiply by 10 move the point one place to right

To multiply by 100 move the point two places to right
To multiply by 1,000 move the point three places to right Righ*

—————————————————————————————————————————————————————————————————————

@ 4x1,000 = 4,000 i
@)712.5x1,000 = 712,500

- ® 5624x10=5624

' @7125x10=7,125 | i @7125x100=71,250 || @
i || (3 562.4x 1,000 = 562,400

@ 7.125x 10§\ ® U.1255000) LN i

® 562.4x10=......., i1 @ 562.4x100= .. .




Learn = Multiplying by x 0.1 , x0.01 and x 0.001

' To multiply by 0.1 move the point one place to left

" | To multiply by 0.01 move the point two places to left |

_______________________________________________________

' @D 4x01=04
| (27125x%0.1=71.25

————————————————————————————————————————————————

. 27125x0.01=7.125

i (@) 5624x0.01=5624 | (3 562.4x0.001=05624

' 2)7125x0.001=0.7125
(@) 562.4x0.1 =56.24 i

__________________________

(6),/448/07 x 0.001 =.........

e = e i it ¥ i s e

{ r ® 23.14x0.001 = ...
® 7425X0.1% e || @ 7.125X0.01% | ® 7.125%0.001 = ...
| @ 5624x0.1= .. ® 5624001 =...... || © 562.4x0.001 =

@ 12x01= 8N 0| . ® 1.2 x001 =.... i @ 0.002 x 0.001

__________________________

® 14.6X0.1= ... f ® 14.6 x0.01= ® 14.6 x0.001 =
® 56.71X0.1= ... ® 56.71x0.01= ....... @ 56.71X0.001= e |
® 4.635x0.1 =...... ® 4.635x0.01=........ © 4.635x0.001 = ........
@ 0.009%0.1 = ...... @ 0.009X0.01 = ...... e R
| ® 2002X0.1 meu || ® 20.02X0.01=....... | O 20:002x0.001
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@i

® e | @ 154
X 23 . X 35
§+ __________ i + ----------

3 X 2 hundredths =6 hundredths

4 x 7 hundredths =28 hundredths

©

=006 =%.28
5 X 9tenths = .&..0.... 0 teliths TR tenthsE L. %o tenths

©® ©

e @ e o

8 X 9 thousandths = .... thousandths %), 6 X 7 hundredths = ....... hundredths
()| 4 x15 thousandths = ..... thousandths 3X5tenthS = coveeeeevvennn tenths
"Bxeineise? Complete :
2 X 8 hundredths =........ hundredths \@/‘ 3 X 4 thousandths = .... thousandths
@ 6 X 7 tenthS = .ovvevvvveverreenen tenths 4 X 9tenths = covvevveveriivsse tenths
8 x 3 thousandths = .... thousandths | (@), 6 X 9 hundredths = ....... hundredths




if @ 3.14x10=......... : :f D 425X 0.1= ..ccseer :f @ 03x3= 1
| @ 5.127x100=.... || @ 536X0.01=... || @ 7x0.6=..
E @ 2.5%1.000= ;v E E @ 875 %0001 = ;.iiiss ; E @ S X051= v E
@0.002 x 1,000 = ...... @35.14x0.1 = ...... @6x0.471 = ......
G 82.8x10= 0y © 4.5 QD1 =.... @2 X457 =600
(1) Choose the correct answer :
@D Tx07= oo ] [49 , 49 , 049 , 0.049]
@ 34X .ciicen T D40 [10 100 , 1000 , 0.01]
@5x01 = ...\ 5 T =o5%, @gs , 0.005]
02%x10= worreene. 221002, Jooz , 0.002]
® 3x0.6 [0,018 , 018 , 108 , 1.8]
® 4 x 8 Thousandths = - (0882 V€ 832 , 32 , 32]
@ 5 & 25 1eNths = vuwasmaminns =O125p”, 125 ; 125 ; 125]

®4 x 4 Thousandths = .......ccccceevennne. [16,000 , 1.6 , 0.16 , 0.016]

@ 243 x 001 = .csinisusines [243 , 243 , 0243 , 243 ]




Primary 5
Firrs< Term

Learn = Multiplying tenths by tenths

- oheedeob |

___________________________________________________________

1.2 x0.7 = 0.84

————————————————————————————————————————————————————————————

. ®0.2x03 =0.06 ®05%02=010=01 |
. ®1.2x03=0.36 @®2.4%0.2 = 0.48

®0.5x0.5 = ............ @3.4x0.2=........ @27 X0.3 = swesirsss

B 1.2 %02 = ®4.7x03=............ @02x24 = .o




decimals

y

y

g,

]

model te mult

55

Using the are

Leanrn

impled Find the products :

Exa

r

e

®4.2x6.1

M o e e e e e we  mm e e me wm mw mm e e e wm mw em e e e




Examplei2 Choose the correct answer :

@ Since 9x3 =27 /then®.9 x 0.93 5Ce....... [ 27 B 2T\ B \0.27 , 0.027]
@Since 3 x 15 =45, then 0.3 % 1.5 =.comtd [ 45 ., 45 Y W45 , 0.045]

®Since 7.5 x 4.3 =32.25 fthen 75x043=.....~

NZISPEB2 8RN 3225 , 0.3225]

3 0.2
If area model of a problemis 4 | x 0.8 PN x4+ ¥ = cvcves
0uZ|.2.1 y
[12 , 1214 , 15 , 154]
L 0.8
If area model of a problem is M| 15 0.8 thenL+ M= .........

04| 1.2 0.32

[8 , 1514 4 15 ; 8d5]




llllllllllllllllllllllllllllllllllllllllllllllllllllllllll

30.7x0.3
@®6.2x7.1

©02x34=......:

@0.4x0.2
®0.4x0.9

T e

®0.5x0.7
@®0.5x0.9

@ Find the products by using area model :

(1) Find the products :




l Lessons 5-6 ]

-‘ -:..'1-

-55--E4]@T[m@ﬂ redt @m@fl ﬁ[m@mg@m@ﬂﬁﬂns @ﬂa@@a

Ignore the decimal point Multiply Place the decimal point

Example d Find the product :

24.3]— Two dcimal places 4.47 2.03
X 6.3} One dcimal place X 52 % 0.07

4+ 729 / 304
_ 0.1421

14580 + 22350

15.309 |-three dcimal place 23.244

- J \

@ 35 1@ 127 |@ 132 |@ 204

X 0.24 X 53 xm 0.15 X 0.8

447 | @ 256 |@ 725 | @ 562
x 52 x 15 x 6.1 x 0.3




@ 407 624 714 585

X 3.2 X 1.5 X 24 x 0.3

= , <al

0.318 X1.5 O 3.18 x 0.15 0.214 x38 O 2.14 x 3.8
03.45x2.1 O 34,5 x 0.21 0.045 x3.6 O 45 x 0.036
@ | 574 x0.126Q 57.4 X 1.26 74.2 x3.5 Q 7.42 % 35
3.87 X3.5 Q 38.7 x 0.35 458 x4.52 O 45.8 X 4.52
0.258 1.7 O 2.58 x 0.17 714 X1.5 O 7.14 % 0.15
Exeeise/ll Compare using[ > , = , < ]
@‘ 0.528 X1.5 O 5.28 X 0.15 | 0.214 x38 O 214 x 3.8 \
03.05%2.4 Q 30.5 x 0.24 0.015 ><5.6O 15 x 0.56
@ | 521 ><8.26O 52.1 x 826 369 x3.5 O 369 x 35




(1) Find the products :

247 | @ 256 |@ 725 |@ @ se2
X 5.2 X 1.5 X 6.1 x 0.03

@ 172 |©® 536 |@ 963 |@ 753
X 0.5 X 0.23 xX£€ (.07 X 1.5

(2) Compare using[ > , = , < ]

0416 x15 () 416015 [ 0023x38( ) 2338

©

03.15%2.4 O 315x 024 | @

S
o
o
—_
ol
X

ol
—_
ol
X

o
o
o
ol

r

121 x8. 06 O 121x806 | @

S
w
[\
o
X
w
ul
w
N
o
X
w
Ul




measurement decimals and power afiten

e IO -

I
i
1| Kilometer L4 Meter | X190 , Centimeter = | Millimeter :
I km m cm mm ]
: — < e i
! :
L _ gl e . T, i
Bxamplel Complete
ol T U X 0.
@| 7.54m=..754.. cm @| 1416 mm=..1416....cm
X001 N X000 N
255.2chie ...2.552°3 ) Th 4,620 m = .....4.62......km
114 cm =..11.4......mm 4,620 km = .....4.62......m
TABG M = o cm
41.25 CIM vevveeverereerennns mm 4,620 m = km
454 CIN =vveereceeeerenenn m 75.3CM = voevreereerrrrreene m




o [ wogemie) | 0 [ wter() | !
! !
i i I - [
o o | = |
- 8 8 S !
: ~— (=1 i : ; o |
i > > l ; > [
! ' | o '
: [ gram (g ) ] : : [ Milliliter (mL) ] :
| ! [ :
!
: | : m units of capacity |
] e N —— |
7 X1000 N 7 X1000
@ 7.54 kg = ..7540,.".... 8 @| 754L=.7540.... ml
7 X1000 N 7 X1000 N
2.425kg =..2,425......... g 0.025L = ..25......... ml
I X0001 N 7 X0001 N,
41.6 g =...0.0416......... ks | @ S82ml =7 £0/528......... L
@ R R g @ BT T R ml
@ G Y S —— g i § W — ml
©) 745.6 8= covverrrrrenne kg 75ml= ... L
@ 418¢g= .. kg 761.1 ml = ...cons.nn. L




@| 2180m( ) 218m | @| oskg() 416g
0.005L( )  5ml 24mm () 024cm
©) 0.088m () 87cm 7L () 715ml

®
oe]
(0]
=
o
@ o]
&
©
o
o
—
~
=
~
=




B2BAT B = mmessense kg BB S — g
@2,647 km = . L7410 Tin i = I i ;.
®3L+243ml= ...cceeuee. L ® 3.4kg+1,500¢g = ............ kg

@| 3450m () 345m | @ oa2kg () 120
0007LO 8 ml @ 63 mm O 0.63 cm
® 0042m© 4.2 cm 6.5 L O 650 ml

®
0
N
Do
—_
(0]¢]
O
e
Do
—_
~
(6]¢]
©
o
=
~
~
=!
~
=i




l Lesson 9 ]

(Ddalia made a liter of sugar cans juice . she drank 320 ml, her father

drank 0.25 L, how much sugar can juice is remaining ?

@Hoda is stride 0.72 meters, how far in meters will Hoda walk after

Talking 1000 stride ? --ge=c----—-SaefTond A L2 O

®Samy bought 14.5 meters of clothes . the price of each meter

Is 3.5 pounds, what is the price of cloths ?

@sandy bought 450 ml of mango juice . her sister Martina drink 0.26 L.

What is the remaining quantity of the mango juice ?




(D Answer the following

@ Eman saved 12.3 pounds each week . how much money she saved

In 10 weeks ?

@Amara went to the supermarket, she bought 1.5 kg of tomatoes, 875 g

Of peas, find the weight [ in gram | of what Amara bought ?

®Amgad needs to drink about 4,230 ml of water every day , how many

Liters of water does he need ?




To divide by 10 move the point one place to left i
To divide by 100 move the point two places to left

_______________________________________________________

---------------------------------------------------------------------

'@ 4+10 =04 @44-1000 = 0.004 |
| @7125+10 =71.25 @7125+1000 =0.7125 !
' @ 5624 +10 =56.24 5624 +1000 =0.5624

D 23.14RHGEL......... (©2,314+1000< ...L...
@ 7.125 K100 ="on.... @.17,125/+ 1000 = 4......
@ 5624 + 100 -k 56254090 7 4../..
%@1.2+10= ......... §®0.02—1o= .........
| ® 4180.7+10= .| ® 418.07x+10 =




(2)712.5+0.001 =712,500 |
5624 +0.001 = 562,400 '

@ 0.002 +0.1=......... :

® 5624+ 0.01= . || @ 562.4 % 0.001= ........ |
@ 0.002 + 0.01=......... X

E @ 5624_01= ......... 1

_________________________

@D 15.2+0.001=........

® 4.56+0.001= ....... |

x0.1 x 0.01




Choose the correct answer :
(1 6.3x100=......
A-0.063

B- 6300
(2) 536 x0.01 =
A-0.536

(3 52x0.1
A- 52 B- 5,200,000
(@) 305 x 100

B-5.36

A- 30,500 B-30.5000

Complete :-
(D) 0.4 + LAt

(3) 33.56 X100 = 33.56 = v.verrereerens

Answer :

C-6.300

C=53.6

CR3.2

C--305

D- 630

D- 5.3600

D- 0.052

What is the height of 10 floors in a building? if the height of each floor

280 cm in meters ?




l Lessons 12-13 ]

[Leamrmn

Ld[m; g LE;G"I]mu[a]I @y whele numbers

How can you evaluate 210 +~ 40 without remainder ?

4 A
i . i 5.25
20 | 210 40 ‘ 210.00
— 200 — 200 ’
100
e - 80
Remainder 200
- 200
000
Then:
. _ : Then 210 = 40=5.25
| Then210+ 40=5r10 B
Bxampled Divide :
@) 155 +50=..%> @58.05+ 15 = .......... Q +8= ..
50 155 5 ’ 58.05 8 | 9




s O

@) 131.5+25=......... 128 = 5= ...
25 ] 131.5 5 | 128
%

-
@333.2+ 14=........

14 ‘ 338 4




Learn

Infinite division

to the nearest hundredths

to the nearest tenths

s[s

9 | 2231 6 | 1.21
5.5+ 3 = .o @ 5+ 8=l

to the nearest hundredths

3‘5.5

to the nearest tenths

I




Leary  Dividing decimals by decimals

To divide by a decimal , writing the devisor as a whole number

Do this by multiplying the divisor and dividing by 10, 100 and 1000

According to the number of places of the decimal part of the divisor .

4 Divide:




-, - - -,

o T o S

., | R B I R e ey ————

you may need to add a zero or More to the right of the dividend

0.4

Example? Divide :




Find the quotient.

I @3175+25=........

©114 - 095=......... O 1.12 - 0.32 =




Complete :

@ 36-04=.... © 72+-08=....
® 033+ 011=.... @ 0.28+ 0.004=......
h rrect answer :
© 380+ 008=..... [ A-10 B- 100 C-1000 D- 8000 ]
© 325+ ... =100 [A-3.25 B-0.0325  C-0.325 D-325 ]
€ 43days~ ... days to the nearest week

[ A- 4 B- 5 C- 6 D- 7 ]
O 16+-02=...... [ A-8 B-6 C-0.8 D-12 ]

Find the quotient:-
@ 1564+ 34=..... ©® 645+ 43=.......




brackets Multiply or divide from the left Addition or subtract from the left
( Jor [ ] X or =+ + or —

Bxampled! Complete :

€© 12+(9-2)x8 ©® 53x2+54+15
Solution solution
=12+ (9-2) x 8 bracktes first =53x2+ 54 + 1.5 multiply, divide
= 12+ 7x8 multiply =106+ 36 add
=12+ 56 add = 142
=68

“UHir. Mostefa Elkhateed T Q1119962132 <) <) <@



e -
CP ri=titlnm  Al-MoscaraS_s S Sing

€ 40+~ 8x0.01 + 14.95

O 12+24+4+8

@15+ 3+2



"Bxene i Choose the correct answer

€ the first operation to solve 88 - 14 + 7 + 12 X 33 iS .covvevunan.
[ A. subtract B. divide C. add D. multiply ]
® 76+ 02+33x10=.....
[ A. 15.2 B. 54 E~Al D. 266 ]

€33+ (2+9)x5=..........

[ A6 B. 7 . 12 D: 15, ]
O10+4%x6-24=..inn.
[ A 14 B. 24 C.10 D.216 ]

@ the second step tosolve 9.3 x 0.1 +4.7 - 1.1 iS weovuuvnee.

[ A, 9.3 x 0.8\ §B-938% 48V W93 W93 ¥1.1 ]




Choose the correct answer :-

€@ the first operation to solve 12 + 20 X 5 -5 iS ............

[ A. subtract B. divide

@ 30-10X3+6=rn

[ A 26 B. 6
©® 100+3.04x100 = ............
[ A 404 B. 10,30
O 9-6+3x2 =
[ A6 B. 3

C. add  D. multiply ]

C. 20 D.30 ]

C. 304 D. 3104 ]




l Lesson 3 ]

Example 1 :
Add 22.7 and 35.3 then multiply the result by 3.

Solution: (22.7+4+35.3)x3=58x3 =174

Example 2 :
subtract 3.1 from 4.62 then multiply the result by 2
SOIUHION: o T N N oo vivianconss
Example 3 :
Divide 93 by 0.3 and then add 40 after that divide the result by 5

Solution: BI-B1 4R\ BV B el W e

Writing expression then evaluate the expression :
@ add 7.4 and 2.3 then multiply the result by 10
Solution : - M -ge-Toad <o
@ subtract 12.4 from 26.8 then divide the result by 100
SOMITION © oo ot s s ot e e st S e Ao
€ find the difference between 10 and 9.27 , multiply by sum of 54 and 46
Solution |  ~=--mmmmmm e e

@ add 32 to 25 and divide the result by 0.5

SOlUtion :  --o e




14

Writing expression then evaluate the expression :

€@ difference between 42 and 37 then multiply the sum of 2 and 8

@ add 18.7 to the result of dividing 45.6 by 10 then subtract the result
from 99




l Lesson 4 ]

" Leasn

" look number pattern find the rule.

Think what should I do to 2 to get 5?7 what should I do to5 to get 8 ?

2 5 8 11 14
T T . <{ The rule ]

n+3

Bxampledl’ Look at each table and determine the rule:

; Ty r N 'd N\ ' 3
Input | Output Input | Output Input | Output Input | Output
5 7 4 1 5 7 5 4
6 8 8 2 6 8 6 5
7 9 12 3 7 9 7 6
8 10 16 4 8 10 8 9
S & A T = -4 v
Rile: -8B\ & Rilesf® k.. - Rale: - B csnucec
le for each mpl
@ 52,44,36, 2820 %120, i Rule/..n -8 .........

O 23,27, ... 135, 30 ey Rule ....coevnes




Primary 5
Fiprs< Term

= - ™ ™ '8
Input | Output Input | Output Input | Output Input | Output
5 20 3 8 9 6 50 10
6 24 4 9 12 | s 45 9
7 28 >R [R—— 14 o i 7 1) S (——
........ 36 11 16 13 6
\. s % J N ¥ \. v,
1171 (. R — 2 11] U ——— | STIT G T ———— 07 [ ——

9 If the rule is n+4, and the output is 13, then the input is .............

Mr. Moestefa Elkhateeb

193 '

01119662132 <€ ~




Primary 5
Fiprrs<€ Term

(1) Look at each table and determine the rule:

! Input | Output 1( Input | Output 1 ( Input | Output 11 Input | Output \
2 5 3 6 9 7 2 10
6 9 5 10 12 |l e 3 15
10 13 T | e 14 12 A | e

[ ceneee 20 J| 11 22 || 16 14 ) | e 30

Rule: - Rule: - Rule: .~ Rule: - -

O 0,.... LT N0 v B o Rule ....Q0%. %\
2 JT7B1E ). e — Rille\ . ~ )\ ...
©1.3,5, BLRL......., ...)- Ralewwr, .. Vs
O5.10, 1158\ o g Riléalileal..

® 15,2, 25 ... W ——— SO Rulef.../£./.....

(3 Complete:
€@ The rule of the pattern: 4,8,12, 16, .... is ......

@ The rule of the pattern: 2, 4,8, 16, .... is ......
€@ The rule of the pattern : 3,3.6,4.2,4.8 , ... is.....
@ If the input is 3 and the rule is n+4, then the output is .............

@ Ifthe ruleis n+4, and the output is 12, then the inputis .............

Mr. Mostofa Elkhatech T 01110062132 < <
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